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71.  The combined population of these countries is the largest among the following: 
 A. Brazil, Nigeria and Bangladesh B. India, Russia and United States 
 C. Philippines, Egypt and Germany D. United Kingdom, France and Italy 
72.  Milpa and Ladang are 
 A. systems of transhumance  
 B. names for shifting cultivation 
 C. sheep breeds famous for Pashmina wool        
 D. chanting systems used in Buddhist monasteries in Ladakh 
73.  According to the Bhutanese government, the pillars of Gross National Happiness (GNH) are 
 #119676 
 1. Sustainable and equitable socio-economic development         2. Environmental conservation 
 3. Preservation and promotion of culture              4. Good governance 
 Select the correct answer using the codes below. 
 A. 2 and 3 only B. 1, 2 and 3 only C. 1 and 4 only D. 1, 2, 3 and 4 
74.  Consider the following about Manilkara zapota. 
 1. It is native to the Indian subcontinent. 
 2. Its bark is rich in a gummy latex called chicle used to make chewing gums. 
 Select the correct answer using the codes below. 
 A. 1 only B. 2 only C. Both 1 and 2 D. None 
75.  The countries with the largest share of the ageing population that is aged 65 and older are 
 A. Japan, Italy and Germany B. Sweden, Latvia and Denmark 
 C. Portugal, Finland and Greece D. USA, UK and Ireland 
76.  Which of these happen in the event of appearance of a La Nina? 
 1.  Warmer-than-usual sea surface temperature and winds across the central and eastern tropical Pacific 

Ocean 
 2.  Reduced convection and cloudiness over tropical Australia and Indonesia 
 Which of the above is/are correct? 
 A. 1 only B. 2 only C. Both 1 and 2 D. None 
77.  India and the United States have signed which of these crucial agreements or are in talks to sign these 

agreements? 
 1. Basic Exchange and Cooperation Agreement for Geo-Spatial cooperation (BECA) 
 2. Logistics Exchange and Memorandum Agreement (LEMOA) 
 3. Communication Interoperability & Security Memorandum Agreement (CISMOA) 
 Select the correct answer using the codes below. 
 A. 2 only B. 1 and 3 only C. 1, 2 and 3 D. 2 and 3 only 
78.  Consider the following statements. 
 1.  India Infrastructure Finance Company Ltd (IIFCL) is a Public Private Partnership (PPP) based company 

set up to provide long term finance to viable infrastructure projects. 
 2.  Industrial Finance Corporation of India (IFCI) is a Systemically Important Non-Deposit taking Non-

Banking Finance Company (NBFC) registered with the RBI. 
 Which of the above is/are correct? 
 A. 1 only B. 2 only C. Both 1 and 2 D. None 
79.  Which of the following is NOT one of the fundamental conventions of the International Labour 

Organization (ILO)? 
 A. Right to Organize and Collective Bargaining Convention  B. Forced Labour Convention 
 C. Minimum Age Convention           D. International Labour Migration Convention 
80.  Consider the following about Olive Ridley Turtles. 
 1.  They are the smallest and most abundant of all sea turtles found in the world. 
 2.  They inhabit the relatively colder waters of the regions of the Indian ocean and South China Sea. 
 3.  They are known for their mass nesting sites where thousands of females come together on the same 

beach to lay eggs. 
 4.  Rushikulya rookery coast and Gahirmatha beach are their major nesting sites in India. 
 Select the correct answer using the codes below. 
 A. 1, 2 and 3 only B. 1, 3 and 4 only C. 2 and 4 only D. 1 and 3 only 


